T1Wr T1Pts Tlpct T2Wr T2Pts T2pct TiT2Zave Row T1 Possible T2 Possible

0 63 100.0 0 64 100.0 100.0 1 63 64
2 61 96.8 1 63 08.4 97.6 2
2 61 096.8 2 62 96.9 96.9 3
2 61 096.8 4 60 93.8 95.3 4
3 60 95.2 3 61 95.3 95.3 5
11 52 82.5 0 64 100.0 91.3 6
4 59 93.7 9 55 85.9 80.8 7
9 54 85.7 7 57 0.1 87.4 8
10 53 84.1 12 52 81.3 82.7 9
6 57 90.5 16.5 47.5 74.2 82.3 10
8 55 87.3 17.5 46.5 72.7 80.0 11
13 50 79.4 15 49 76.6 78.0 12
19 44 69.8 17 47 73.4 71.6 13
16 47 74.6 23 41 64.1 69.3 14
15 48 76.2 25 39 60.9 68.6 15
27 36 57.1 14 50 78.1 67.6 16 [
11 52 82.5 35 29 45.3 63.9 17
24.5 38.5 61.1 25 39 60.9 61.0 18
43 20 31.7 7 57 89.1 60.4 19
27 36 57.1 27 37 57.8 57.5 20
30 33 52.4 29 35 54.7 53.5 21
36 27 42.9 25.5 38.5 60.2 51.5 22
35 28 44.4 27 37 57.8 51.1 23
32 31 49.2 31 33 51.6 50.4 24
37 26 41.3 56 8 12.5 26.9 25
36 27 42.9 64 0 0.0 21.4 26
63 0 0.0 64 0 0.0 0.0 27
63 0 0.0 64 0 0.0 0.0 28
63 0 0.0 64 0 0.0 0.0 29

TiIWr TI1Pts Tlpct T2Wr T2Pts T2pct T1T2ave Row

If you do not have your Test 1 TIWr and your Test 2 T2Wr scores handy, send email to jacobson@cs.uni.edu and | will
tell you what your Test 1 and Test 2 scores were.

These numbers will change when all the homework scores are added.

| will also do a test average where your highest test score counts TWICE and your lowest test score counts ONCE. For
example, you got 100 on test one and 50 on test two. Your average is 75, but with the reward the highest test score, the
average is (100 + 100 + 50) divided by 3. That average would be 83.3 instead of 75.


mailto:jacobson@cs.uni.edu

